®©

=
P

GEAR REDUCER
GEAR MOTOR

PLK Self-Contained Motor Type Gear Reducer
PLK 18 - 0200 - 10

JEE L Ratio: 1/10
E# HP: 200W

H A ElR ~F Output Shaft Dimension: 218

PLKEAZL EE#HAY Horizontal Type (Single-Shaft)

PCD.=oR (5+3) ﬂ A
| — Ple
T Thi 2 ¢€§
zs= et |1 F
2| o
[ I I
z ‘ g } K §f§§40mm ZEBE(W):
zll. S
B 51 R~T% Dimensions ;;;E o
EH | BiELE |iE3E AJTEgsInput Shaft | HI /B4 Output Shaft | =&
HP |GearRatio|Type | A [B|C [P | B | F |G H| J [ K| E M INIREXY I Z I TsTT Wil P Qs ] T [w]| B
o.1kwl_5750 | 18 |159]11]22 40 [110[135] 65 |9 [15.98| 50 [ 10[160]110|130|127| 85 | 4 |26 111274 |30|22]18| 20 [5 | 5
60~200 | 22 |191] 8 |8 | 65 [130]155] 90 [11[17.66] 60 | 12[160[110]130[145] 90 | 4 [2611[12.7 4 [40[30[22] 25 [ 7 | 6.2
5~10 | 18 |159|11]22 |40 [110[135] 65 |9 [15.98] 50 [ 10[160[110[130[127| 85 | 4 [26|11]12.7] 4 [30|22[18 ]| 20 | 5
12.5~25 | 18 [159|11 |22 [ 40 [110[135| 65 |9 [15.98| 50 |10[160[110[130[127| 85 | 4 |26[11[127| 4 [30|22[18] 20 | 5
0 5 5-100| 22 [191 8 | 8 | 65 |130|155| 90 |11|17.66| 60 | 12|160|110130|145| 90 | 4 |26|11|12.7| 4 40|30 |22| 25 | 7 | 6.2
120~200 | 28 |220] — |- | 90 [140[170[120[11[23.11] 70 [ 15[160[110[130[170[110] 4 [26|11[12.7] 4 [45]35|28] 31 [7 | 7.5
5~10 | 22 |191|8 |8 |65 [130|155] 90 [11[17.66] 60 | 12[160[110]130[145] 90 | 4 [33]|14[16.2] 5 [40[30[22] 25 [ 7 | 6.2
ok 12525 | 22 [191]8 |8 [ 65 [130[155] 90 [11]17.66] 60 [12[160]110130[145] 90 | 4 |33[14[162]5 |40]s0]22] 25 [7 | 62
125~100| 28 [220| - |- | 90 [140[170|120[11]23.11| 70 [ 15]160[110[130[170|110]| 4 |33 [14[162] 5 [45|35]28| 31 [7 | 75
120~200 | 32 |261| - |- [130[170|210[167[13[30.22| 75 | 18|160|110[130|204]130] 4 [33|14[162] 5 [55(45]32[365[10] 19
525 | 28 |254|135) - | 90 [140[170[120[11[23.11] 70 [ 15|200[130]165]170]110]4.5 43 | 19]21.7] 6 [45]35|28] 31 [7 | 7.5
0.75KW| 30~100 | 32 284/ — |- [130[170|210(167[13[30.22| 75 | 18|200|130|165|204130(4.5 43 | 19]21.7| 6 |55 |45 |32 |3655]10] 20.5
120~200 | 40 |340| - |- [150|210[260|200]18]37.96 | 96 | 23]200[130|165|252|160[4.5 |43 | 19]21.7| 6 |65|55]40| 44 |13 39
5~30 | 32 |303|— |- [130[170|210[167[13[30.22] 75 | 18|200|130|165|204]130(4.5 |53 |24]27.2| 8 [ 55 |45 |32 |365]10] 205
1.5KW| 40~100 | 40 [341| - [ - [150(210]260|200|18|37.96 | 96 | 23|200[130]165|252[160[4.5 |53 |24[27.2] 8 |65 |55]40] 44 | 13| 39
120~200 | 50 |351] — |- [160 230 |285]210[18] 39.2 [104 | 30|200[130(165]305]176]4.5 |53 |24[27.2] 8 | 75]65 |50 [53.5[14] 52.2
5~10 | 32 |317| - |- [130[170|210[167[13[30.22] 75 | 18|250|180|215|204]130(4.5 |63 |28[31.2| 8 55 |45[32 |3655]10] 21.5
2.2KW| 15~60 | 40 [373] 3 |- [150|210]260|200|18|37.96 | 96 | 23|250|180 215|252/ 160[4.5 |63 |28[31.7| 8 |65|55]40 | 44 |13 40
75~120 | 50 |383| — |- [160|230(285(210[18| 39.2 [104 | 30]250(180|215[305|176]4.5 |63 28[31.2| 8 | 75|65 |50 [53.5/14| 54
sl 220 | 40 [373] 3 | - [150|210]260|200|18[37.96| 96 | 23|250|180|215252|160|4.5 63| 28[31.2[ 8 |65 55 |40 | 44 [i3] 40
25~100 | 50 |383| — |- [160|230(285(210[18| 39.2 [104 | 30]250(180(215[305|176]4.5 |63 28[31.2| 8 | 75|65 |50 [53.514| 54

1. JREER ARSI T HER
2. 40~50 fEpsE LFIMNO BUBIR (S EH50 mm ) .
3. FRGET 244 FL 1/8~1/4 HP & M8*P1.25.

1/2~2 HP& M10*P1.5.

4. 8RRA0mm Z SEE(W) IZZEE10mm » 12mm & 5EF AR

3 HPA&M14*P2.

1. Colour in Light blue indicates motor of smaller torque.
2." O " type rings shall be attached to the 40 ~ 50mm gear box. (add. Height: 50mm).
3. Central screw hole for 1/8 ~ 1/4 HP motor shall be M8*P1.25
Central screw hole for the 1/2 ~ 2HP motor shall be M10*P1.5.
Central screw hole for the 3HP motor shall be M14*P2.
4. Keyway (w) for type 40 is 10mm, 12mm is optional.

Ll FEEEREE) » BARITEM* We reserve the right to change without further notice.




©

. GEAR REDUCER
GEAR MOTOR

PFK (IZ3%) B! E S S

PFK Self-Contained Motor Type Gear Reducer

PFK 18 - 0200 - 10
|—5JEJZiEJ:|: Ratio: 1/10

&7 HP: 200W
H 1 EhR<F Output Shaft Dimension: 218
PFKIZz\ BB Vertical Type (Single-Shaft)

4-0H

PCD=0R (52) A PC.D-0E pooon
<P—1> - i (6]
é: ‘:%:g ™| | < L Qo
= ) ) ORI R
3 N st | |kl
- : J* o
Ly o 49.5 | 49.5 o -
z Tk BHTR40mm ZIBE(W):
pms srmm s A<t
B EiER~F % Dimensions He e T e
B | BEEEE |HESR 78k Input Shaft) B8 Output haft | B2 .
HPGearRatioTypeABCDEXFGHJKLMNRYZP1S1T1W1PQSTWA%';WLWEE
0AKW 5~50 18 |159| 20|20 | 50 |140| 99 (122| — |9 |15.98/40|12|160(110(130| 5 | 4 |26|11|12.7| 4 |30|22|18| 20 |5 | 5 |A1/4&E
60~200 | 22 [191| 7 | — |148|185|131|176|168|11|17.66|50|12|160(110({130(3.5| 4 |26|11|12.7| 4 |40 (30|22 | 25 | 7 | 6.2 |A2;%&
5~10 18 [159|20(20 | 50 {140| 99 (122| — |9 (15.98|40|12|160({110(130| 5 | 4 [26|11|12.7| 4 |30(22|18| 20 | 5 A1
0.2KW 12.5~25| 18 |159|20|20| 50 |140| 99 |122| — |9 |15.98/40|12(160(110(130| 5 | 4 |26(11[12.7| 4 |30|22|18| 20 | 5 AVERE
125~100| 22 [191| 7 | — |148|185|131|176|168|11(17.66| 50 |22 |160{110|130|3.5| 4 (26|11[12.7| 4 |40(30|22| 25 | 7 | 6.2 |A2;%x&
120~200 | 28 [220| — | — [170]220(156|205|195 ﬂl_ 23.11|60(13|160(110|130| 4 | 4 |26|11|12.7| 4 (45|35|28 | 31 | 7 | 7.5 |A2;FH
5~10 22 (191 7 | — |148]185|131|176|168|11|17.66|50|12|160/110({130(3.5| 4 |33|14|16.2| 5 |40(30(22| 25 | 7 | 6.2 |A2;%E
0.4KW 12.5~25| 22 [191| 7 | — |148|185|131|176|168|11|17.66/ 50|12 (160/110|130|3.5| 4 |33(14(16.2| 5 |40|30|22| 25 | 7 | 6.2 |A2;%R&
125~100| 28 [220| — | — |170|220|156|205|195 ?{QL 23.11/60(13|160/110130| 4 | 4 |33|14|16.2| 5 [45|35|28| 31 |7 | 7.5 |A2iE&
120~200 | 32 |250| — | — |185|255|180(|241|225|15|30.22| 70 |15|160({110({130| 4 | 4 |33|14|16.2| 5 |55|45|32|36.5|10| 19 |A2;%@E
5~25 28 (254 (175| — |170]220|156|205|195 ﬂl_ 23.11|60(13|200(130(|165| 4 |4.5|43|19|21.7| 6 (45|35|28| 31 | 7 | 7.5 |A2/FH
0.75KW| 30~100 | 32 (284| 2 | — |185]255|180(241|225(15|30.22| 70|15|200(130(165| 4 [4.5|43|19|21.7| 6 |55 |45|32[36.5|10|20.5 | A2;%E
120~200 | 40 |340| — | — |230|310|219|297|268|15(37.96| 76 |20 |200({130(165| 5 |4.5|43[19(21.7| 6 |65 |55|40 | 44 (11% 39 |A2/ER
5~30 32 [303| 2 | — [185|255|180|241|225|15|30.22| 70 | 15|200({130|165| 4 |4.5|53(24|27.2| 8 |55|45|32(36.5|10|20.5 | A2;4RE
1.5KW| 40~100 | 40 |341| — | — |230|310(219|297|268|15|37.96| 76 |20 [200(130(165| 5 |4.5|53|24|27.2| 8 |65|55|40 | 44 (11% 39 |A2/%E
120~200 | 50 |351[135| — |250|352|249|320|290|18| 39.2 | 86|22 [200(130(165| 5 |4.5|53(24(27.2| 8 |75 65|50 [563.5|14 | 52.2 | A2;%#
5~10 32 (317|27| — |185]255|180(241|225(15|30.22| 70| 15|250/180|215| 4 [4.5|63|28|31.2| 8 |55 (45|32 (36.5(10|21.5 | A2;%E
2.2KW| 15~60 | 40 [373|2.5| — |230(310|219|297|268|15(37.96| 76 |20 |250(180|215| 5 |4.5|63|28(31.2| 8 |65 (55|40 | 44 (11% 40 |A2iER
75~120 | 50 |383|135| — |250(352|249(320|290(18| 39.2 | 86|22 |250({180|215| 5 |4.5|63(28|31.2| 8 |75|65|50|53.5|14 | 54 |A2;EH
3. 7KW 5~20 40 [373]2.5| — |230(310|219|297|268|15(37.96| 76 |20 |250(180|215| 5 |4.5|63|28(31.2| 8 |65 |55|40 | 44 (11% 40 |A2;%E
25~100 | 50 [383|135| — |250|352|249|320|290|18| 39.2 | 86|22 (250(180(215| 5 |4.5|63(28(31.2| 8 |75|65|50 (563.5|14 | 54 |A2;%w&
1. )REE EERIR ) s HER 1. Colour in Light blue indicates motor of smaller torque.
2. FhRETESAFL 1/8~1/4 HP /& M8*P1.25. 2. Central screw hole for 1/8 ~ 1/4 HP motor shall be M8*P1.25.
1/2~2 HP & M10*P1.5. Central screw hole for the 1/2 ~ 2HP motor shall be M10*P1.5.
3 HP & M14*P2. Central screw hole for the 3HP motor shall be M14*P2.
3.ENA0mm Z BBE (W) EHEA10mm » 12mm& ER FiS. 3. Keyway (w) for type 40 is 10mm, 12mm is optional.

D _FEEEREE) - T RITEE” We reserve the right to change without further notice.





